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1.

1.

2.

3.

/

[a] 2 3 [b] 1 3

[c] [d] 1 2

Sol. [A]

2.

A. 1.

B. 2.

C. 3.
A B C A B C

[a] 2 1 3 [b] 1 2 3
[c] 2 3 1 [d] 1 3 2

Sol. [A]

•

•

•
•

3.

1.

2.

3.

/

[a] 1 2 [b] 2 3

[c] [d] 1 3

1. Consider the following statements-
1. The Kailash mountain range is an

extended part of the Zanskar range in
Tibet.

2. Indus river flows between Zanskar and
Ladakh ranges.

3. The Fotu La Pass is located in the Zaskar
range, which connects Srinagar to Leh.

From the above statements, select the correct
statements using the codes given below-
[a] 2 and 3 Only [b] 1 and 3 Only
[c] All of the Above [d] 1 and 2 Only

Sol. [A]
The Ladakh range is known as the Kailash
range in Tibet. The Indus River originates
from a place called Bokhar Chu and flows
between the Ladakh and Zanskar ranges. The
Fotu La Pass, located in the Zanskar range,
connects Srinagar to Leh.

2. Match the following-
Hills Highest Peak

A. Khasi 1. Nokrek
B. Garo 2. Shillong
C. Jaintia 3. Maryngksih

A B C A B C
[a] 2 1 3 [b] 1 2 3
[c] 2 3 1 [d]1 3 2

Sol. [A]
• The highest peak of the Garo Hills is

Nokrek, which is also a bio reserve.
• Shillong is the highest peak of the Khasi

Hills. Shillong is also the highest peak of
the Meghalaya Plateau.

• Mosinram and Cherrapunji are situated in
the Khasi hills.

• Marangakshi is the highest peak of the
Jaintia hills.

3. Consider the following statements regarding
the Malwa Plateau-

1. The Bharner range and the Bundelkhand
plateau are situated on its eastern
boundary.

2. In this, all the rivers following the
northern slope are part of the Chambal
drainage system.

3. It is made of basalt lava.
Select the correct statements from the statements-
Code:
[a] 1 and 2 Only [b] 2 and 3 Only
[c] All of the above [d] 1 and 3 Only
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Sol. [C]

4. 1.

2.

/

[a] 1 [b] 2

[c]   [d] 

Sol. [D]

5. 1. 

2.

/

[a] 1 [b] 1 2 

[c] 2 [d] 

Sol. [C]

1. 2.  3. 4. 

/

6.

1.

Sol. [C]
Malwa Plateau – A triangular plateau made
of basalt lava is located in Madhya Pradesh.
The Bharner range and Bundelkhand plateau
are situated on its eastern border, Mewar
plateau and Aravalli range on the north-
western border, Gwalior hills on the northern
border, Chambal, Betwa, Sindh, Parvati,
Kalisindh are the major rivers following the
northern slope. which are part of Chambal
drainage system.

4. 1. The Meghalaya Plateau is the north eastern
extension of the Chota Nagpur Plateau.

2. The low land situated between Rajmahal
hills and Garo hills is called Malda fault.

Choose the correct statements from the above-
[a] 1 Only [b] 2 Only
[c] Both are incorrect [d] Both are correct

Sol. [D]
Meghalaya Plateau:- This is the north eastern
extension of Chota Nagpur Plateau. Due to
tectonic movements, a rift valley was formed
between the two. The low land lying between
the Rajmahal hills of Chhota Nagpur and the
Garo hills of Manghalaya plateau is called the
Malda fault (Rajmahal-Garo fault).

5. 1. The rivers flowing in the Terai region of
the northern plains become inundated due
to higher porosity.

2. The low land of the delta region of
Sunderbans is called Beel.

Select the correct statement(s)
[a]  1  Only [b] Both 1 and 2
[c]  2  Only [d] Both are incorrect.

Sol. [C]
Classification of Northern Plains on the basis
of structure:-
1. Bhabar 2. Terai 3. Khadar 4. Bangar
It is a pebble-stone plain with large sediments.
Due to high porosity, the rivers become
invisible here.
Terai:- The water of the rivers starts
appearing on the surface again.
Sunderbans Delta:- High land - Char, Low land
- Beel.

6. Discuss the following statements with
reference to Indian monsoon-
1. India receives about Three-fourth part of

the total annual rainfall through the south-
west monsoon winds.
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2.

3.

/

[a] 1 2 [b] 1 3

[c] [d] 2 3

Sol. [B]

 
75% 

65% 
35% 

7. 1.

2.

3.

/

[a] 1 2 [b]

[c] 2 3 [d] 1 3

Sol. [C]

8.

1. 2.

3. 4.

[a] 1, 4, 2, 3 [b] 3, 4, 1, 2

[c]  1, 2, 3, 4 [d] 3, 1, 4, 2

2. The Bay of Bengal branch is comparatively
more powerful than the Arabian Sea
branch.

3. The amount of rainfall decreases as the
Bay of Bengal branch moves towards the
west.

Select the correct statement/statements:-
[a] 1 and 2 Only
[b] 1 and 3 Only
[c] All of the above [d] 2 and 3 Only

Sol. [B]
Indian Monsoon: About 75% of India’s total
annual rainfall is received from the south-west
monsoon winds. The Arabian Sea branch is
comparatively more powerful than the Bay of
Bengal branch. About 65% of the moisture
brought by the monsoon comes from the
Arabian Sea branch and the remaining 35%
from the Bay of Bengal branch. On the rise in
the plains west of the Bay of Bengal branch,
there is a decrease in humidity, due to which
the amount of rainfall gradually decreases.

7. 1. The Coromandel Coast receives heavy
rainfall on the arrival of the monsoon.

2. The Coromandel Coast is located in the
rain shadow zone of the Arabian Sea
branch.

3. Hot and dry winds coming from Sindh
affect the rainfall in Rajasthan.

Choose the correct statements from the above
statements-
[a] 1 and 2 Only [b] All of the above
[c] 2 and 3 Only [d] 1 and 3 only

Sol. [C]
There is no rain on the Coromandel Coast on
the arrival of monsoon because this coast is
located in the rain shadow area of the Arabian
Sea branch and the Bay of Bengal branch
passes parallel to it. The hot and dry winds
coming from Sindh (Pakistan) prevent
monsoon rains from occurring in Rajasthan.

8. Examine the following factors causing
rainfall in India:-
1. North-East Monsoon
2. Western Disturbance
3. South-west monsoon
4. Pre-monsoon rains
Their correct descending order on the basis
of amount of rainfall is-
[a] 1, 4, 2, 3       [b] 3, 4, 1, 2
[c] 1, 2, 3, 4       [d] 3, 1, 4, 2
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Sol. [D]

(75%), (13%) (10%)
(2%)

9.

[a] [b]

[c] [d]
Sol. [c]

10.
1.

2.

3.

/
[a] 1 2 [b] 2 3
[c] 1 3 [d]

Sol. [c]

11. 1.
2.

3.
/

[a] 1 [b] 2
[c] 1 2 [d] 3

Sol. [*]
/

Sol. [D]
Rain providing factors in India:- South-West
Monsoon (75%), North east monsoon (13%),
pre monsoon rains (10%) Western Disturbance
(2%).

9. Which of the following is situated in the
southernmost-
(a) Kundremukh (b) Pal Ghat
(c) Palani hills (d) Hills seshachalam

Sol. [c]
Kudremukh (Karnataka), the highest peak in
the middle Sahyadris.
Palghat: - Between Nilgiri and Annamalai hills.
It connects Kochi to Coimbatore.
Sheshnag Hills – situated on the border of
Andhra Pradesh and Karnataka.
Palani Hills – Located in Kerala and Tamil
Nadu. Most of these hill stations are located
in Koikanal (Tamil Nadu).

10. Discuss the following statements-
1. Satpura range, situated between Narmada

and Tapi rivers.
2. Senkota Pass is between Annamalai and

Nilgiri hills.
3. The Shivaram Hills are located in Tamil

Nadu, which is part of the Eastern Ghats.
Select the correct statement/statements-
(a) 1 And 2 Only (b) 2 And 3 Only
(c) 1 And 3 Only (d) All of the above

Sol. [a]
The Satpura block is an example of a mountain,
on both sides of which lie the rift valleys of
the Narmada and Tapi rivers. Senkota Pass is
situated in the middle of the Kadim
(Cardamom) hills. It connects
Thiruvananthapuram to Madurai.

11. 1. Phangpui mountain peak is situated in the
Assam Himalayas.

2. Lemotol Hills is the highest peak of
Manipur Hills.

3. Saramati Peak is the highest peak of the
Naga Hills.

Select the correct statement/s from above:
[a] 1 Only [b] 2 Only
[c] 1 and 2 Only [d] 3 Only

Sol. [*]
Phogpui is the highest peak of the
Mizodhlusai Hills of Mizoram. The Lamotol
Hills are located to the west of the Manipur
Hills. Saramati Peak is the highest peak of the
Naga Hills in Nagaland.
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12.

1.
2.
3.
4.

[a] [b]
[c] [d]

Sol. [b]

(Traills)

13.
[a]
[b]
[c]
[d]  

Sol. [d]
UP MP 

14.

[a]
[b]
[c]
[d]

Sol. [b]

Manipur's highest peak - Mount Iso (Tenipu
or Tempu)

12. Consider the following pairs :
Mountain Pass State
1. Pangsang - Sikkim
2. Tuju - Arunachal Pradesh
3. Bara Lacha - Himachal Pradesh
4. Traills - Uttarakhand
How many of the above pairs are wrong?
[a] Only one pair [b] Only two pairs
[c] Only three pairs [d] All the above pairs

Sol. [b]
Pangsang, Diphu, Changyap, Bomdila -
Arunachal Pradesh.
Tzu-(Manipur-Myanmar border),
Baralacha, Shipki La, Rohtang – Himachal
Pradesh.
Trails (Jtampasse), Mana, Niti, Lipulekh,
Dhang La-Uttarakhand.
Burjila, Pirpanjal, Zojila, Banihal, Aghil-
Jammu-Kashmir and Ladakh.

13. Bundelkhand Plateau is located at:-
[a] In Madhya Pradesh, Rajasthan and Gujarat
[b] In Madhya Pradesh and Chhattisgarh
[c] Chhattisgarh, Uttar Pradesh and Madhya

Pradesh
[d] In Madhya Pradesh and Uttar Pradesh.

Sol. [d]
Bundelkhand Plateau – situated in Nutch and
Dutch. semi-arid region. Betwa and Ken rivers
form deep gorges and waterfalls here.

14. Which of the following plateau is situated
in the northern most:-
[a] Dandkaranya plateau
[b] Bundelkhand plateau
[c] Malwa Plateau
[d] Baghelkhand Plateau

Sol. [b]
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15.

1.

2.

3.

4.

[a]
[b]
[c]
[d]

Sol. [B]

1.
2.
3.

4.

5.

6.

16. 1.

2.

3.

/

[a] 1 2 [b] 2
[c] [d] 1 3

Sol. [D]

15. Examine the following pairs-
Ground Position

1. Haryana - Bhiwani Between Beas
Bangar and Ghaggar

rivers
2. Magadha Plain In Bihar to the

north of river
Ganga

3. Barind plain Between Kosi
and Mahananda
rivers

4. Rar Plains Between
Subarnarekha and
Damodar rivers

How many of the above pairs are mismatched?
[a] Only one pair
[b] Only two pair
[c] Only three pair
[d] All the above four pairs

Sol. [B]
Haryana- Bhiwani Bangar plain, between
Ghaggar and Yamuna rivers of Haryana state.
These are part of the Sutlej plains.
Territorial division of the Gangetic plain:
1. Rohilkhand Plain - Western Uttar

Pradesh
2. Awadh Maidan - Near Lucknow
3. Mithila Plains - North of river

Ganga in Bihar
4. Magadha plains - In the south of

river Ganga in Bihar

5. Barind plain - Between Kosi and
Mahananda rivers

6. Plain of Rar - Between Damodar
and Subarnarekha rivers

16. 1. The western coastal plains are rough and
stony plains.

2. Due to high agricultural production, the
Malabar plain is called the 'Food Bowl of
South India'.

3. In the western coastal plain, lagoon lakes
are found only in the southern part.

Select the correct statement(s)
[a]  1 and 2 Only [b]  2 Only
[c] All of the above [d] 1 and 3 only

Sol. [D]

Western Coastal Plain – Extends from Kutch
to Kanyakumari. The rivers here form
estuaries due to which the width is less and it
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17.

1.

2.

3.

/

[a] 2 [b] 1 2

[c] 1 3 [d]
Sol. [C]

18.

1.

2.

3.

/

[a] 1 2 [b] 2 3

[c] [d] 3
Sol. [B]

is stony and rough. Only in southern part of
lagoon lakes are formed of malabar coast  such
as Vembanad, Ashtamudhi etc.
Rice is cultivated in the Tamil Nadu plains of
the eastern coastal plains. It is called the Food
bowl of South India.

17. Discuss the following statements related to
Monsoon-
1. The theory related to the influence of the

tropical easterly jet stream and the Tibetan
Plateau on the Indian monsoon was given
by P. Koteshwaram.

2. India receives rainfall in the months of
April-May due to the presence of sub-
tropical westerly jet stream over India.

3. The tropical easterly jet stream increases
the pressure gradient between the Indian
subcontinent and the Indian Ocean.

Select the correct statement(s)
[a] 2 Only [b] 1 and 2 only
[c] 1 and 3 only [d] All of the above

Sol. [C]

P. Koteshwaram gave the theory regarding
the influence of the tropical easterly jet stream
and the Tibetan Plateau on Indian monsoon.

The tropical easterly jet stream increases the
pressure gradient between the Indian
subcontinent and the Indian Ocean. Due to
which the speed and intensity of monsoon
winds increases. Due to the influence of the
southern branch of the sub-tropical westerly
jet streams, there is no rainfall in India in spite
of low pressure conditions in the months of
April-May.

18. Discuss the following statements with
reference to the Indian monsoon-

1. The direction of the Walker cycle being in
the anti-clockwise direction is an indication
of the absence of El Nino.

2. The Southern Oscillation Index is the
source of information on El-Nino.

3. La Nina is formed by the upwelling of
cold water in the eastern part of the South
Pacific Ocean.

Select the correct statements using the code
given below-

[a] 1 and 2 Only [b] 2 and 3 Only

[c] All of the above [d] 3 Only

Sol. [B]
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19.

[a] [b]
[c] [d]

Sol. [C]
113 

25 
5 

435 

20.

[a]
[b]
[c]
[d]

Sol. [c]

I. 

II.

I. II. 
III.

21.

1.

Walker Cell - There is a difference in the
pressure conditions of the eastern and western
part of the South Pacific Ocean. Due to which
there is circulation of air between these parts,
which is called walker Cell. Under normal
conditions, the direction of the Walker Cell is
clockwise and during El Niño, the direction
of the Walker Cell is anti-clockwise.
Southern Oscillation Index - Tahiti pressure -
Darwin pressure. Its positive result indicates
normal monsoon conditions and negative
result indicates El Nino.
Heavy rainfall in the eastern part of the South
Pacific Ocean during El Niño causes high water
levels. Hence the warm water gets displaced
from east to west. due to which El Nino
becomes weak. Here the upwelling of cold
water takes place along with the displacement
of warm water. This gives rise to La Nina.

19. Which of the following places receives the
least annual rainfall?
[a] Patna [b] Bikaner
[c] Leh [d] Udupi

Sol. [C]
Patna (about 113 cm.)
Bikaner (about 25 cm.)
Leh (about 5 cm.)
Udupi (about 435 cm.)
Udupi (Karnataka) – situated to the west of

the Western Ghats.
20. The Northern Sarkar Coast extends between

which of the following rivers?
[a] Krishna and Peneru
[b] Mahanadi and Godavari
[c] Subarnarekha and Krishna
[d] Mahanadi and Peneru

Sol. [c]
Eastern Coastal Plain:- From Subarnarekha
to Kanyakumari.
Two parts on the basis of rivers- I. Northern
Government.
Between Subarnarekha to Krishna rivers
mainly in Odisha and Andhra Pradesh.
II.koromandal: - situated between Krishna to
Kanyakumari, mainly in Andhra Pradesh and
Tamil Nadu. Classification on regional basis:-
I. Utkal Plains II. Andhra Plains III. Tamil
Nadu Plains.

21. Observe the following pairs with respect to
Shivalik range-

Regional name Field
1. Chudiaghat - Assam
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2.

3.

4.

[a] [b]

[c] [d]
Sol. [b]

1.

2.

3.

4.

22.

1.

2.

3.

4.

/

[a] 1 [b] 2

[c] 2 3 [d] 4
Sol. [d]

23.

1.

2. 1 

3.
22 

 /

[a] 1 2 [b] 2 3

[c] [d] 1 3

2. Dudwa - Uttarakhand
3. Dhang - Nepal
4. Abor - Arunachal Pradesh
How many of these pairs are wrong?
[a] Only one pair, [b]Only two pairs
[c] Only three pairs [d] all the above pairs

Sol. [b]
Regional names in different parts of
Shivalik

Mountain Range:-
1. Jammu Hills - Jammu and Kashmir
2. Dhang and Dudwa - Uttarakhand
3. Chudiaghat - Nepal
4. Abor, Miri, Mishmi, Dafla - Arunachal

Pradesh.
22. Examine the following statements regarding

Kaal Baisakhi:-
1. These are destructive thunder storms.
2. In Assam, they are known as Bardoli

Chheeda.
3. They become active in the months of April

and May.
4. They are harmful for the cultivation of rice,

tea and jute.
Select the incorrect statement from the above
statements using the codes given below-
[a] Only 1 [b] Only 2
[c] Only 2 and 3 [d] Only 4

Sol. [d]
Kaal Baisakhi:- In the month of Baisakh,
thunder storms caused by destructive humid
winds blowing in the evening, their effect
remains in the months of April and May in
West Bengal and Assam. In Assam it is called
Bardoli Chheeda in the local language. It is
also called Norwester. The rains caused by
Kaal Baisakhi are beneficial for the cultivation
of rice, tea and jute.

23. Discuss the following statements-
1. The variability of monsoon rainfall is less

in the less rainfall receiving regions of
India.

2. Monsoon rains start on the main land of
India from 1st June.

3. Monsoon rains start on Andaman and
Nicobar from 22nd May.

Select the correct statements using the code
given below-
[a] Only 1 and 2  [b] Only 2 and 3
[c] All of the above  [d] 1 and 3 Only
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Sol. [b]
22 

1 
25 

24.

[a] [b]
[c] [d]

Sol. [C]

1.
2. H.P.
3. H.P.

4. H.P.
5.

25.

A.   1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 3 2 1 4 [b] 2 3 1 4
[c] 3 4 1 2 [d] 2 3 4 1

Sol. [D]
1.
2.

3.

4.

26.

[a] [b]
[c] [d]

Sol. [A]

Sol.[b]
Arrival of monsoon in India - 22 May: -
Andaman-Nicobar. 1 June – Malabar Coast
(Kerala) onset of monsoon over mainland
India. June 25- Rajasthan.
The variability of monsoon rainfall is found
more in those places where the amount of
rainfall is less. Like:- Windward slope of
Rajasthan, Gujarat, Western Ghats.

24. Which of the following river originates from
the meeting of Chandra and Bhaga rivers?
[a] Jhelum [b] Ravi
[c] Chenab [d] Beas

Sol. [C]
Origin of Panchnad rivers:-
1. Jhelum- Berinag Falls (Jammu and

Kashmir)
2. Ravi- Bhangal Village, Rohtang Pass ( HP)
3. Chenab-Chandra Bhaga rivers meet at a

place called Tandi (H.P.).
4. From Beas Kund near Beas-Rohtang Pass

(H.P.)
5. Satluj - Rakshastal (Tibet).

25. Match the following rivers with their
tributaries:-
Main River Tributary
A. Tapi 1. Tel
B. Kaveri 2. Bori
C. Narmada 3. Bhavani
D. Mahanadi 4. Chhota Tawa
Code:

A B C D A B C D
[a] 3 2 1 4 [b] 2 3 1 4
[c] 3 4 1 2 [d] 2 3 4 1

Sol. [D]
1. Tapi: - Girna and Bori.
2. Kaveri:- Left bank:- Shimshaa, Arkavati,

Hemavati. Right bank:- Bhavani, Kabani,
Laxmantirtha, Amravati, Noyal.

3. Narmada: Left: Chhota tawa, Tawa, Kundi
Right: Hiran.

4. Mahanadi: Left: Hasdo, Sheonath, Mand,
Ib.Right: Tel, Aung.

26. Which of the following river does not fall
into the Arabian Sea?
[a] Vansadhara [b] Vaitarana
[c] Periyar [d] Pamba

Sol. [A]
Vansh Dhara River: Originates from Orissa,
flows through Andhra Pradesh and falls into
the Bay of Bengal.
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/

27.

[a] [b]
[c] [d]

Sol. [c]

28.

[a] [b]
[c] [d]

Sol. [A]

29.  

1. 2.
3. 4.

[a] 1 2 [b] 2 3
[c] 1, 3 4 [d]

Sol. [b]

30.
[a] [b]
[c] [d]

Sol. [C]

31. 1

2.
/

[a] 1 [b] 2
[c] 1 2 [d]

Major rivers falling into the Arabian Sea-
Narmada, Tapi, Mahi, Mandovi, Zuari,
Periyar, Pamba, Bharatpuzha/ponnani,
Vaitarna, Sharavati.

27. Which of the following river passes through
Hemis National Park?
(a)  Shyok River (b) Jhelum River
(c) Markha River (d) Yarkand

Sol. [c]
The Markha River, a tributary of the Zaskar
River, passes through the Hemis National Park
in the Markha Valley.

28. By what name is the combined stream of Ganga
and Brahmaputra rivers known in Bangladesh?
[a] Jamuna [b] Padma
[c] Meghna [d] Brahmaganga

Sol. [A]
Padma- Name of the river Ganges in
Bangladesh.
Jamuna – Named after the meeting of
Brahmaputra river in Padma.
Meghna-  when Meghna meets in Jamuna, it
falls into the Bay of Bengal.

29. Consider the following tributaries of
Mahanadi-
1. Ong 2. Sheonath
3. Hasdo 4. Oil
Which of the above rivers join the Mahanadi
in the state of Chhattisgarh?
[a] 1 and 2 only [b] 2 and 3 Only
[c] 1, 3 and 4
[d] Only, all of the above

Sol. [b]
Mahanadi: Origin Sihawa Hills (Chhattisgarh)
Tributaries - Left Bank: Sheonath, Hasdo,
Mand (Chhattisgarh), Ib (Odisha). Right
bank:- Aeng, Tel (Odisha) Hirakud Dam is
situated on this in Odisha, which is the longest
dam in India.

30. What type of lake is the Gangabal lake of
India:-
[a] Delta lake [b] Crater lake
[c] Cirque Lake [d] Gokhur Lake

Sol. [C]
Cirque Lake:- Lake formed by the melting of
glaciers in Cirque. Gangabal Lake is a Cirque
Lake, located in the Kashmir Valley.

31. 1. Chilka Lake is a lagoon lake, in which the
Nalabana Island Bird Sanctuary is located.

2. Pulicat Lake is widespread in Andhra Pradesh.
Choose the correct statements from the above
statements-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None
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Sol. [A]

1981 
1987 

84% 16% 

32.

[a] [b]

[c] [d]

Sol. [b]

/

33.

[a] [b]

[c] [d]

Sol. [b]

/

34. 1. 2000 

2.

3.
A 

/

[a] 1 [b] 2 3

[c] [d] 1 3

Sol. [D]

200C 270 C, 150-200 cm., 75

A 

Sol. [A]
Chilka Lake:- Largest brackish water lake in
Odisha, India and  included in the Ramsar list
in 1981. Nalabana Island located in it, was
declared a bird sanctuary in 1987.
Pulicat Lake – Andhra Pradesh, Tamil Nadu.
Lagoon Lake. Its 84% part is located in
Andhra Pradesh and 16% in Tamil Nadu.

32. Which of the following lake is not a lagoon?
[a] Chilika [b] Koluru
[c] Pulicat [d] Ashtamudi

Sol. [b]
Lagoon Anup Lake: - A shallow water area
formed on the edge of a wide water body
like sea or ocean is partially or completely
separated from the ocean by a thin terrestrial
belt or remnant (barrier, barrier, wall etc.).
Example- Chilka (Odisha), Pulicat (Andhra
Pradesh and Tamil Nadu), Bembanad,
Ashtamudi (Kerala).
Kolleru Lake (Krishna-Godavari Delta
Region, Andhra Pradesh) It is formed by
accumulation of water in the delta region.

33. Which of the following lake is a fresh water
lake:-
[a] Ashtamudi Lake [b] Sasthamkotta Lake
[c] Lonar Lake [d] Pulicat Lake

Sol. [b]
Sasthamkotta Lake:- The largest fresh water
lake in Kerala. Ramsar Site. Ashtamudi
(Kerala) – Lagoon lake with eight sides. Lonar
Lake (Maharashtra) Crater meteorite lake. Of
salt water Pulicat Lake:- Second lagoon lake
after Chilka in India. Andhra Pradesh - Tamil
Nadu border.

34. 1. Rice crop can be obtained up to 2000 meters
above sea level.

2. The Central Rice Research Center is
located in Kolkata.

3. A  Genetically Modified variety called
Golden Rice. removes Vitamin-A
deficiency.

Choose the correct statements from the above
statements-
[a] Only 1 [b] Only 2 and 3
[c] All of the above [d] 1 and 3 only

Sol. [D]
Rice production - Second to China
Temperature - 200C -270 C Rain - 150-200 cm.
points It is necessary to keep water in the
fields for 75 days. Vitamins by genetic
modification. A variety called Golden Rice has
been developed to overcome the deficiency.
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35. 1. 
2. 
3. 

/
[a] 1 2 [b]
[c] 3 [d] 1 3

Sol. [D]
200C-

300C, 125 Cm. 

36. 1

2

/

[a] 1 [b] 1 2 
[c] 1 2 [d] 2

Sol. [B]
• 250 - 300C, 200 Cm.
•
•

68%

37.

[a] [b]
[c] [d]

Sol. [b]

1. 2. 3. 4. 
5.

1. 2. 
3. 4. 5. 

38. 

[a] 200-300 

[b] 25-50 

Central Rice Research Institute -Cuttack (Odisha)
Indian Institute of Rice Research  - Hyderabad
(Telangana)

35. 1. India is the country of Origin of sugarcane.
2. Maharashtra is the largest producer State

of sugarcane.
3. The productivity of sugarcane is high in

South India.
Choose the correct statements from the above
statements-
[a] 1 and 2 only [b] All of the above
[c] 3 only [d] 1 and 3 only

Sol. [D]
Sugarcane:- India is the country of Origin of
sugarcane. Temperature - 200 C-300 C, Rain -
125 cm. The crop is ready in about a year.
productivity is higher in south india. Highest
producing state in India – Uttar Pradesh. Frost
is harmful.

36. Statement 1: Coffee production in India
started from the Bababudan hills.
Statement 2: Coffee cultivation in India is
confined only to the hill slopes of South India.
Choose the correct statements from the above
statements
[a] only 1 [b] Both 1 and 2
[c] neither 1 nor 2 [d] only 2

Sol. [B]
• Coffee:-Temperature - 250 - 300C, Rain - 200 Cm.
• Varieties:- Arabica, Robusta, Liberica.
• Coffee started in India from Bababudan
hills (Karnataka). Coffee cultivation is limited
to the mountain slopes of South India. Coffee
is produced in Karnataka(68%) Kerala and
Tamil Nadu.

37. The pair of states with highest productivity
of cotton is:-
[a] Maharashtra - Karnataka
[b] Punjab - Madhya Pradesh
[c] Gujarat - Maharashtra
[d] Telangana - Madhya Pradesh

Sol. [b]
States with highest productivity of cotton:-
1. Punjab, 2. Madhya Pradesh, 3. Rajasthan,
4. Haryana, 5. Andhra Pradesh.
Highest production states:- 1. Maharashtra,
2. Gujarat,3. Telangana, 4. Madhya Pradesh
5. Rajasthan.

38. The favorable conditions required for cotton
crop production do not include:-
[a] Temperature 200-300 Celsius
[b] Rain 25-50 cm-
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[c] 210 

[d]

Sol. [b]

200-300 
50-100 

210 

39. 100

C 150 C  200 C

[a] [b]

[c] [d]

Sol. [b]

 100

C 150 C  200 C.
50-75 100 

40.

I II

A. 1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

[a] 1 3 2 4 [b] 3 4 1 2

[c] 2 3 1 4 [d] 4 1 2 3

Sol. [B] 

1.

2.
 

3.

4.

[c] Frost free 210 days
[d] Semi-arid climate

Sol. [b]
Favorable conditions for cotton:- Temperature
200-300 Celsius, Rainfall, 50-100 cm-, Climate-
Semi-arid part of tropical areas, 210 days
without frost, Soil-slag made black soil, Water
flowing surface, Dry conditions at the time
of ripening.

39. For which of the following crops, 100C is
necessary at the time of sowing, 150C at the
time of growing and 200C at the time of
harvesting:-
[a] Rice [b] Wheat
[c] Cotton [d] Sugarcane

Sol. [b]
Favorable conditions for wheat crop:-
Temperature:- 100C at the time of sowing, 150

C at the time of growing and 200C at the time
of harvesting. Rainfall:-50-75 cm. During
growing, more rain and 100 days without frost
is necessary. Climate temperate tropical. Soil-
sandy loam.

40. Match the following lists correctly-
List I List II
A. Limonite 1. Salem
B. Siderite 2. Barajamda
C. Magnetite 3. Mirzapur
D. Hematite 4. Rudra Prayag
code

A B C D A B C D
[a] 1 3 2 4 [b] 3 4 1 2

[c] 2 3 1 4 [d] 4 1 2 3
Sol. [B]

 Iron ore and their production area-
1. Magnetite - Nizamabad, Karim Nagar

(Andhra), Cuddapah, Nellore
(Telangana), Kudremukh (Karnataka),
Kozhikode (Keral), Salem (Tamil Nadu).

2. Hematite:- Chhatarpur, Gwalior, Sagar
(MP), Ratnagiri, Chandrapur
(Maharashtra), Durg, Bastar, Dantewada
(Chhattisgarh), Mayurbhanj, Sundargarh,
Keonjhor (Odisha), Vellari, Chikmagaluru,
Chitradurga (Karnataka), Noamandi, Gua,
Chiriya, Barajmada ( Jharkhand)

3. Limonite:- Raniganj (West Bengal),
Mirzapur (UP), Kangra Valley (Himachal
Pradesh).

4. Siderite - Himachal Pradesh, Uttarakhand,
Uttar Pradesh.
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41.

1.

2.

/

[a] 1 [b] 1 2 

[c]  2 [d] 1 1 

Sol. [A]

 

42.

/

1.

2.

3.

[a] 1 2 [b]

[c] 1 3 [d] 2 3

Sol. [A]

43.

[a] [b]

[c] [d]

Sol. [b]

44.

[a] [b]

[c] [d]

41. With reference to India:-
1. The largest reserves of manganese are

located in the state of Odisha.
2. Jharkhand is the largest producer of

Manganese.
Select the correct statement-
[a] 1 Only [b] Both 1 and 2
[c]  2 Only [d] both are incorrect

Sol. [A]
Most reserves - Odisha, Karnataka, Madhya
Pradesh.
Highestproducer:- Madhya Pradesh,
Maharashtra, Odisha
Highest production value:- Maharashtra,
Madhya Pradesh, Odisha.

42. Examine the following statements and select
the correct statement by selecting the code:-
1. Mica is transparent, flexible, a bad

conductor of heat.
2. Koderma is called the capital of mica.
3. Guntur district of Andhra Pradesh has

maximum production of mica.
Code:
[a] 1 and 2 only [b] All of the above
[c] 1 and 3 only [d] 2 and 3 only

Sol. [A]
Mica: It is transparent, flexible and a bad
conductor of heat and electricity. Rajasthan is
the largest producer and Andhra Pradesh is
the storage state: Nellore district of Andhra
Pradesh has the highest production of mica.
Koderma (Jharkhand) is called the capital of
mica because of high quality mica.

43. In which rock series are rich deposits of iron
ore found in India:-
[a] Cuddapah Sequence
[b] Dharwad  Sequence
[c] Gondwana Sequence
[d] Vindhyan Sequence

Sol. [b]
Iron ore is found in the rocks of the Dharwad
sequence in India.

44. Dallirajhara, an iron ore mine, is situated on
which of the following plateau?
[a] Bastar Plateau
[b] Koderma Plateau
[c] Kalahandi Plateau
[d] Baghelkhand Plateau
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Sol. [a]

 

MP 

45.

[a]

[b] 42 

[c] 28 

[d] 10.2 

Sol. [A]

1. 2. 3.
42 GW

28 GW

14.GW

10.GW

46.

1.

2.

3. 748 

/

[a] 1 2 [b] 2 3

[c] [d] 1 3

Sol. [C]

 5000

748 GW.

 1. (142 G.W.)

2. (111 G.W.) 3. 
(64 GW) 59 GW.



Sol. [a]
Bastar Plateau – Dandakaranya Plateau is a
part of Chhattisgarh, where Bailadila and
Dallirajhara mines of iron ore are located. In
Odisha, Dandakaranya is called Kalahandi
Plateau. Northern part of Chhotanagpur
plateau. Koderma Plateau and Hazaribagh
Plateau. The Baghelkhand Plateau is located
in the states of Dutch and Chhattisgarh.
Where Vindhyachal and Satpura ranges meet.

45. Select the incorrect statement from the
following with respect to biomass energy:-
[a] The highest producing state is Uttar

Pradesh.
[b] The total potential capacity in the country

is 42 GW.
[c] The potential capacity from agricultural

residues is 28 GW.
[d] The total  installed capacity in the country

is 10.2 GW.
Sol. [A]

Biomass energy (India) - Energy derived from
organic products. Most producing state - 1.
Maharashtra 2. Uttar Pradesh 3. Karnataka.
Total Potential Capacity:- 42 GW
Potential from Agricultural Residue- 28 GW
Potential from bagasse(sugarcane):- 14.GW
Installed Capacity-:10.GW., 14.GW.

46. Discuss the following statements regarding
solar energy in India-
1. Solar Energy Research Institute is

established in Gurugram, Haryana.
2. The second highest potential area in the

country is Jammu-Kashmir and Ladakh
region.

3. India’s potential solar power capacity is
748 GW.

Select the correct statements
[a] 1 and 2 only [b] 2 and 3 only
[c] All of the above [d] 1 and 3 only

Sol. [C]
 Solar energy (India):- India receives about

5000 trillion kilowatt hours of energy
every year. Potential and production
capacity - 748 GW.

 State with highest potential
1. Rajasthan (142 GW.)
2. Jammu-Kashmir and Ladakh (111 G.W.)

3. Maharashtra (64 GW.)Installed capacity
at present - 59 GW.

 Solar Energy Research Center - Gwal
Pahari, Gurugram (Haryana)
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47.

1.

2.

3. 2600 

/

[a] 1 2 [b] 1 3

[c] [d] 2 3

Sol. [B]

100M.W. 
NTPC 

2600 MW.
NTPC.

48.

[a]

[b]

[c]

[d]

[a] [b]

[c] [d]

Sol. [B]

1.

2.

3. /

4.

49 .

[a]

[b]

[c]

[d]

Sol. [a]

47. Discuss the following statements-

1. The Ramagundam Floating Solar Project
is located in Telangana on the Godavari
River.

2. The Ramagundam floating solar project
has been develped by Tata Power.

3. A thermal power plant of 2600 MW
capacity is also located at Ramagundam.

From the above statements, select the correct
statements using the codes given below-

[a] 1 and 2 only [b] 1 and 3 only

[c] all of the above [d] 2 and 3 only

Sol. [B]

Ramagundam Floating Solar Project  Narmada
River Telangana. Capacity - 100 MW
(currently India’s largest floating solar project)
developed by NTPC

Ramagudam Thermal Power Plant. Capacity
- 2600 MW. NTPC.

48. Consider the following pairs-

HydropowerProject River

A. Balimela  - Sileru

B. Bansagar - Son

C. Sabrigiri - Bhima

D. Panchet - Mahanadi

How many of the above pairs are incorrectly
matched?

[a] Only One [b] Only Two

[c] Only Three [d] All of the above

Sol. [B]

Hydro Electric Projects - River and State

1. Balimela: Sileru River (Odisha)

2. Bansagar: Son River (Madhya Pradesh)

3. Sabari giri: Kakkidhpamba (Kerala)

4. Panchet: Damodar River (Jharkhand)
49. The correct descending order of the states

having maximum storage of mineral oil
(onshore reserves) in India is-

[a] Assam, Gujarat, Rajasthan
[b] Gujarat, Assam, Rajasthan
[c] Rajasthan, Assam, Gujarat
[d] Rajasthan, Gujarat, Assam

Sol. [a]
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 (55%) ISt. 
(25%), IInd (19%) IIIrd (6.5%)

 (45%) Ist (38%)
IInd. (6.8%)

50.

  
A. 1.

B. 2.

C. 3.
D. 4.

5.
A B C D A B C D

[a] 4 3 1 5 [b] 4 1 3 2
[c] 2 5 4 3 [d] 2 3 5 4

Sol. [a]

1.
2.
3.
4.

51.

[a] [b]
[c] [d]

Sol. [d]

52. 1.

2.

3.

/

[a] 1 [b] 2
[c] 2 3 [d] 1 3

Sol. [B]

 Mineral Oil- Coastal Reserves (55%) -Ist.
Assam (25%) IInd. Gujarat (19%) IIIrd.

 Rajasthan (6.5%) A Offshore Reserves
(45%) Ist. Western Ghats (38%) IInd.
Eastern Ghats (6.8%).

50. Match the following lists (thermal power
plants and states) correctly-
Thermal Power Plant State
A. Kolaghat Thermal 1. Uttar Pradesh

Power station
B. Patratu Thermal 2. Maharashtra

Power station
C. Roza Thermal Power 3. Jharkhand

Station
D. Srisingaji Thermal 4. West Bengal

Power Station 5. Madhya Pradesh

A B C D A B C D
[a] 4 3 1 5 [b] 4 1 3 2

[c] 2 5 4 3 [d] 2 3 5 4
Sol. [a]

Thermal Power Plant State
1. Kolaghat - West Bengal
2. Patratu - Jharkhand
3. Rosa - Uttar Pradesh
4. Shri Singaji - Madhya Pradesh

51. The largest storage and the largest producer
state of thorium in India are respectively:-
[a] Tamil Nadu and Kerala
[b] Kerala and Tamil Nadu
[c] Odisha and Andhra Pradesh
[d] Andhra Pradesh & Kerala

Sol. [d]
Thorium: Monazite and ilmenite are found in
coastal soils. Highest reserves - Andhra
Pradesh, highest production - Kerala.

52. 1. Industries of Odisha, Jharkhand and West
Bengal are included under Chhota Nagpur
industrial region.

2. Titagarh, Naihati, Bailur, are the main
centers of Visakhapatnam Guntur
industrial region.

3. The GardenReach workshop for making
refreshments is located in the Hooghly
Industrial region.

Choose the incorrect statement(s) from the
above statements-
[a] Only 1 [b] Only 2
[c] 2 and 3 only [d] 1 and 3 Only

Sol. [B]
Chhota Nagpur Industrial Region:- Odisha,
Jharkhand and West Bengal.
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53. 8 

[a]

[b]

[c]

[d]

Sol. [C]

8 

54.

[a] [b]

[c] [d]

Sol. [c]

 

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

(11)

(12)

(13)

55. 4 

Major centers of Visakhapatnam-Guntur
industrial region:- Vijayanagara, Vijayawada,
Eluru, Rajahmundry etc.
Hooghly Industrial Region: - Garden Reach
Shipbuilders and Engineers Limited, Kolkata,
for shipbuilding.
Major centers:- Titagarh, Naihati, Bailur,
Shyamnagar, Saudepur, Bajbuj, Belguriyah,
Triveni etc.

53. National Highway No. 8 passes through
which of the following?
[a] Delhi-Uttar Pradesh-Rajasthan, Madhya

Pradesh.
[b] U t t a r P r a d e s h - M a d h y a P r a d e s h

Chhattisgarh - Andhra Pradesh.
[c] Assam-Tripura
[d] Delhi-Haryana-Rajasthan-Gujarat-

Maharashtra.
Sol. [c]

National Highway 8: - Located between
Karimganj (Assam) to Sabroom (Tripura).

54. Which of the following city is not located
on the North-South corridor:-
(a) Pthankot (b) Hydrabad
(c) Karimnagar (d) Gwalior

Sol. [c]
Major cities located on the North-South
Corridor:-
(1) Jammu Kashmir- Sri Nagar, Anantnag,

Udhampur, Jammu,
Samba, Kathua.

(2) Himachal Pradesh.
(3) Punjab- Pathankot, Jalandhar, Ludhiana,

Rajpura.
(4) Haryana- Faradkot, Palwal, Hodal,

Ambala, Karnal,
Panipat.

(5) Delhi
(6) Rajasthan - Dholpur
(7) Uttar Pradesh - Mathura, Agra, Jhansi,

Lalitpur.
(8) Madhya Pradesh - Morena, Gwalior, Sagar,

Seoni.
(9) Maharashtra - Nagpur.
(10)Telangana - Nirmal, Adilabad, Nizamabad,

Hyderabad.
(11) Andhra Pradesh- Kurnool, Gooty,

 Anantapur.
(12) Karnataka - Bengaluru.
(13) Tamil Nadu - Krishnagiri, Salem,

Madurai, Tirunelveli, Kanyakumari.
55. National Highway No. 4 connects which two

places?
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[a] [b]

[c] [d]

Sol. [c]

4 

56.

[a] [b]

[c] [d]

Sol. [b]

1. 2. 3. 4.

57.

[a] NH 44 [b] NH 22

[c] NH 16 [d] NH 14

Sol. [c]

16 

58.

[a]

[b]

[c]

[d]

59.
1. 2.
3. 4.

[a] 1 2 [b] 2 3
[c] 4 [d] 3 4

60. I

II

[a] Delhi-Jaipur
[b] Delhi-Mumbai
[c] Mayabunder-Chidiyatapu
[d] Fulbari- Gangtok

Sol. [c]
National Highway No.4 connects Mayabunder
(Middle Andaman) to Chidiyatapu (South
Andaman). It passes through Port Blair.

56. Which of the following pair of cities is
located on both the Golden Quadrilateral
Highway and the North-South Corridor:-
[a] Anantapur – Krishnagiri
[b] Bengaluru – Krishnagiri
[c] Krishnagiri-Madhugiri
[d] Bengaluru-Madhugiri

Sol. [b]
Cities situated on both the Golden
Quadrilateral Highway and North South
Corridor:- 1. Bengaluru 2. Krishnagiri 3. Delhi
4. Agra

57. Which of the following National Highway
connects Chennai to Kolkata?

[a] NH 44 [b] NH 22

[c] NH 16 [d] NH 14

Sol. [c]

National Highway No. 16 connects Chennai
(Tamil Nadu) to Kolkata (West Bengal). It is
part of the Golden Quadrilateral.

58. Which of the following pair is not correctly
matched?

Solar Project State
[a] Kurnool - Andhra Pradesh
[b] Kamuthi - Kerala
[c] Bhadla - Rajasthan
[d] Pavagadh - Karnataka

59. Consider the following regions:-
1. Indore-Dewas-Ujjain
2. Guwahati-Shillong
3. Hooghly Region
4. Kollam-Thiruvananthapuram
Which of the above is not included in the
major industrial regions of India?
[a] 1 and 2 only [b] 2 and 3 only
[c] 4 only [d] 3 and 4 only

60. Statement I. The Godavari River originates
from the Brahmagiri hills.
Statement II: Mahabaleshwar is the peak
of northern Sahyadri, from where the river
Krishna originates.
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[a] I 

[b] II 

[c]

[d]

61.

[a]

[b]

[c]

[d]

Sol. [D]

62.

I -II 

A. 1.

B. 2.

C. 3.

D. 4.

5.

A B C D A B C D

[a] 1 2 4 5 [b] 1 2 5 4

[c] 1 2 3 4 [d] 2 1 5 3

Sol. [C]

63.

[a] [b]

[c] [d]

Sol. [A]

1.

2.

Code :
[a] Only statement I is correct.
[b] Only statement II is correct.
[c] Both the statements are correct.
[d] Both the statements are wrong.

61. With reference to the extension of the Atlas
Mountains, the correct option is-
[a] In Niger and Nigeria
[b] In Botswana and Zimbabwe
[c] In Ethiopia and Somalia
[d] Morocco, Algeria and Tunisia

Sol. [D]
The Atlas Mountains are located in the
countries of Morocco, Algeria and Tunisia in
the continent of Africa. The highest peak is
Toubkal.

62. Match the following pair-
List-I (Mountains) List-II (Countries)
A. Green Mountains 1. United States
B. Vosges 2. France
C. Pontinc 3. Türkiye
D. Fuji 4. Japan

5. Spain
A B C D A B C D

[a] 1 2 4 5 [b] 1 2 5 4
[c] 1 2 3 4 [d] 2 1 5 3

Sol. [C]
The order of the mountains asked in question
and the countries related to them are as
follows-
Mountain Country
Green Mountains - United States

(Alpplacian Range)
Vosges - France
Pontinc - Turkiye
Fuji - Japan
Cantabrians - located in Spain and

the Pyrenees
Mountains is located
on the border of
Spain and France.

63. Which of the following mountains is located
in Italy?
[a] Apennine [b] Pyrenees
[c] Jura [d] Dinaric Alps

Sol. [A]
1. Apennine Mountains - located in Italy
2. Pyrenees Mountains - located in Spain and

France
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3.

4.

64.

-I II 

A. 1.

B. 2.

C. 3.

D. 4.

5.

A B C D A B C D

[a] 4 2 1 5 [b] 4 3 2 5
[c] 4 3 1 5 [d] 4 3 1 2

Sol. [D]
1.

2.

3.

4.

5.

65.

[a] -

[b] -

[c] -

[d] -

Sol. [B]

66.

A. 1.
B. 2.

3. Jura Mountains - France and Switzerland are
on the border.

4. Dinaric Alps - Extend from Slovenia to Albania
64. Match the following pairs-

List-I (Plateau) List-II (Origin River)
A. Guyana Plateau 1. Loir and Seine

River
B. Katanga Plateau 2. Blue Nile River
C. Massif Central 3. Congo River
D. Abyssinian Plateau 4. Orinoco River

5. Colorado River
Code:

A B C D A B C D

[a] 4 2 1 5 [b] 4 3 2 5

[c] 4 3 1 5 [d] 4 3 1 2

Sol. [D]
1. Guiana Plateau – Minerals like bauxite, gold,

diamond, iron ore, manganese etc. Orinoco and
tributaries originate from it.

2. Katanga Plateau – Located in Democratic
Republic of Congo and Zambia. The Congo
River originates from this plateau and deposits
of copper and cobalt.

3. Massif Central - The plateau located in France
from which the Loir and Seine rivers originate.

4. Abyssinian Plateau- Ethiopian Highlands.
Many saline lakes such as Lake Assal in
Djibouti. Freshwater lake Lake Tana from
which the Blue Nile River originates. The
highest point of the plateau is Ras Dashen.

5. Colorado River- Origin-Rocky Mountains, joins
Gulf of California. This river forms the Grand
Canyon and Hooper Dam is located on it.

65. Which of the following is not a correctly
matched pair?

Plateau Country
[a] Plateau of Bie - Angola
[b] Plateau of Jose - Congo and Zambia
[c] Bavarian Plateau - Germany
[d] Shan Plateau - Eastern Myanmar

Sol. [B]
Plateau of Jos - located in the country of Niger
and Nigeria. Abuja, the capital of Nigeria, is
situated on this plateau. Tin deposits are found
here.

66. Match the following :
Grassland Country
A. Pampas 1. South Africa
B. Prairies 2. Australia
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C. 3.

D. 4.

A B C D A B C D

[a] 4 3 2 1 [b] 4 3 1 2
[c] 3 4 2 1 [d] 3 2 4 1

Sol. [B]
67.

1.
2.

3.

[a] 1 [b] 2
[c] 1 2 [d]  2 3

Sol. [D]

68.

[a] [b]
[c] [d]

Sol. [D]
1. 2 

2.

69.
[a] [b]
[c] [d]

Sol. [A]

3000 

70.
[a]

[b]

[c]

[d]

Sol. [D]

C. Weld 3. America
D. Downs 4. Argentina
Code:

A B C D A B C D

[a] 4 3 2 1 [b] 4 3 1 2

[c] 3 4 2 1 [d] 3 2 4 1
Sol. [B]
67. Consider the following statements-

1. Emu birds of Australia are found in
Pampas region.

2. Rhea birds, equivalent to Ostrich, are
found in Savannah of Africa.

3. Rare species of Mongolian gazelle and
wild horses are found in the steppe
grassland.

Select the correct option from the above-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] 2 and 3 only

Sol. [D]
Kangaroos are found in large numbers in the
grasslands of Australia.

68. Which of the following grassland is located
in Sri Lanka?
[a] Campas [b] Pampas
[c] Selvas [d] Patana

Sol. [D]
1. Patana grasslands are found in Sri Lanka

which are of 2 types.
2. Selvas grasslands are tropical grasslands in the

Amazon basin.
69. Which is the world's largest temperate

grassland ?
[a] Eurasian [b] Pampas
[c] Downs [d] Veld

Sol. [A]
Eurasian- It is a grassland located in Eurasia.
Which extends from the Black Sea to the Altai
Mountains in an area of about 3000 km, which
extends from Hungary to China.

70. The mismatched pair among the following
is-
[a] Chihuahua Desert – Southern United

States and
Northern Mexico

[b] Atacama Desert - Peru and Chile
[c] Namib Desert - Namibia, Angola

and South Africa
[d] Takla Makan Desert - Southern Mongolia

Sol. [D]
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71.

[a]

[b]

[c]

[d]

Sol. [C]

72.

1.

2.

3.

[a] 1 2

[b] 1 3

[c] 2 3

[d] 1, 2 3

Sol. [B]

73.

[a]

[b]

[c]

[d]

Sol. [D]

74. A, B, C D 

Takla Makan Desert – It is a cold desert located
in China.
The Namib Desert is included in the UNESCO
World Heritage List.

71. Which of the following statements is not
correct about the Atacama Desert?
[a] It is a desert in South America.
[b] It is the driest desert in the world.
[c] It is located in southern Chile.
[d] It has rich reserves of nitrates.

Sol. [C]
The Atacama Desert is the driest desert in the
world located in South America. Arika is the
driest place in the world. It has vast reserves
of sodium, nitrate, phosphate, copper and
other minerals. This desert is not located in
southern Chile but in northern Chile.

72. Consider the following statements-
1. The Bushman tribe lives in the Kalahari

Desert.
2. The Beduoin / Badawin tribe lives in the

Namib Desert.
3. The Tuareg tribe resides in the Sahara

desert.
Choose the correct statements from the above.
[a] 1 and 2 only
[b] 1 and 3 only
[c] 2 and 3 only
[d] 1, 2 and 3

Sol. [B]
Bedouin tribe - found in the Sahara desert.

73. The mismatched pair among the following
is-

Desert Country
[a] Gobi - Mongolia
[b] Dasht-e-Lut - Iran
[c] Nafud - Saudi Arabia
[d] Patagonian - United States of

America
Sol. [D]

The Patagonian Desert is located in Argentina
and Chile.

74. Match the rivers A, B, C and D marked on
the given map with the names given in the
list and select the correct code-
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1. 2.

3. 4.

5.

A B C D A B C D

[a] 2 3 1 4 [b] 2 3 4 5

[c] 2 4 3 5 [d] 2 3 4 1
Sol. [*]

1.

2.

3.

4.

5.

75.

[a] [b]

[c] [d]

Sol. [D]

1.

2.

1. Mississippi 2. McKenzie
3. St. Lawrence 4. Colombia
5. Colorado
Code:

A B C D A B C D

[a] 2 3 1 4 [b] 2 3 4 5

[c] 2 4 3 5 [d] 2 3 4 1
Sol. [*]
1. McKenzie River - It originates near Great Slave

Lake on the northwestern part of Canada and
flows northwards and falls into the Arctic
Ocean.

2. St. Lawrence River - This river connects the
Great Lakes to the Atlantic Ocean.

3. Columbia River - Origin Rocky Mountains,
Joins - Pacific Ocean. Tributary-Snake. Grand
Coolie Dam is located.

4. Colorado - Origin Rocky Mountains, Joins -
Gulf of California. It forms the Grand Canyon.
The Hoover Dam is located on it.

5. Mississippi - This river forms the longest river
system in North America and the fourth
longest river system in the world. River Valley
Project is located on its tributary Tennessee,
on the basis of which the Damodar River
Valley Project has been built in India.

75. Which of the following cities is situated on
the banks of the Potomac River?
[a] Berlin [b] Bangkok
[c] Madrid [d] Washington D.C.

Sol. [D]
1. Berlin - situated on the banks of the river Spree
2. Bangkok - Bangkok, the capital of Thailand,

is situated on the banks of the Chao Phraya
River.
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3.

4.

76.

1.

2.

3.

4.

[a] 1, 2 4

[b] 1 4

[c] 2 3

[d] 1, 2 3

Sol. [D]

77.

[a] [b]

[c] [d]

Sol. [D]

78.

[a]
[b]
[c]
[d]

Sol. [D]

3. Madrid - situated on the banks of the Magensis River
4. Washington D-C -- Located on the banks of

the Potomac River.
76. With reference to Congo River, consider the

following statements-
1. It is the deepest and second largest river

in the world.
2. World's highest hydro power generation

capacity is found on this river.
3. It is also called Zaire river which crosses

the equator twice.
4. Stanley and Victoria Falls are situated on

this river.
Choose the correct statements from the above.
[a] 1, 2 and 4 only
[b] 1 and 4 only
[c] 2 and 3 only
[d] 1, 2 and 3 only

Sol. [D]
Stanley and Livingstone Falls are located on
the Congo River. Victoria Falls is located on
the Zambezi River.

77. Which of the following river of Asia flows
towards the south?
[a] Amur [b] Lena
[c] Ob [d] Salween

Sol. [D]
The Amur, Lena, and Ob rivers flow north
from their source, while the Salween River
flows south from their source. This river forms
the boundary between Myanmar and Thailand
and drains into the Gulf of Martaban in the
Andaman Sea.

78. The mismatched pair among the following
is-

River Waterfall
[a] Churun - Angel
[b] Congo - Stanley
[c] Potaro - Kiteur
[d] Zambezi/Zambezi- Nigara

Sol. [D]
Victoria Falls is located on the Zambezi River.
Kariba Dam is situated on it. Due to which
Kariba Lake is formed. Kariba is the largest
man-made lake in the world by volume.
While Niagara Falls is located on Erie and Lake
Ontario.
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79.

A. 1.

B. 2.

C. 3.

D. 4.

5.

A B C D A B C D

[a] 3 4 2 1 [b] 3 4 1 2

[c] 3 4 5 2 [d] 3 5 1 2
Sol. [B]

80.

[a]

[b]

[c]

[d]

Sol. [D]

81.

[a]

[b]

[c]

[d]

Sol. [D]

82.

[a]

[b]

79. Match the cities situated on the banks of the
river-

River City
A. Seine 1. Vatican City
B. Ebro 2. Hamburg
C. Tiber 3. Paris
D. Elbe 4. Zaragoza

5. Berlin
Code:

A B C D A B C D

[a] 3 4 2 1 [b] 3 4 1 2

[c] 3 4 5 2 [d] 3 5 1 2
Sol. [B]

Berlin, the capital of Germany, is situated on
the banks of the Spree River.

80. Identify the mismatched pair-
[a] The Salween river marks the boundary

between Myanmar and Thailand.
[b] The Rio Grande River marks the boundary

between the United States of America and
Mexico.

[c] The St. Lawrence River flows along the
international border between the United
States of America and Canada.

[d] The Helmand River marks the boundary
between Afghanistan and Pakistan.

Sol. [D]
The Helmand River is the longest river in
Afghanistan.

81. Choose the incorrect statement from the
following-
[a] Pygmy tribes live in the basin area of the

Congo River.
[b] The Egyptian farmers in the Nile River

basin are called fellahs.
[c] The Waikato River is the longest river in

New Zealand.
[d] The Tennessee River forms the estuarine

in the shape of a 'bird's claw'.
Sol. [D]

Tennessee River This river forms a 'bird's claw'
shaped delta.

82. What is the correct order of the Great Lakes
of the United States from west to east?
[a] Ontario – Erie – Huron – Michigan –

Superior
[b] Huron – Michigan – Ontario – Superior –

Erie
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[c]

[d]

Sol. [D]

83.

[a]

[b]

[c]

[d]

Sol. [D]

1.

2.

3.

4.

36 
84.

[a]
[b]
[c]
[d]

Sol. [A]

85.

1.

2.

3.

[c] Ontario - Michigan - Erie - Huron -
Superior

[d] Superior - Michigan - Huron - Erie -
Ontario

Sol. [D]
The order of the Great Lakes located on the
border of the United States and Canada
(Michigan - only in the US) is as follows - from
west to east
Superior - Michigan - Huron - Erie - Ontario

83. Which of the following is not correctly
matched?

Lake Country

[a] Baikal - Russia
[b] Darya-e-Urmiya - Iran
[c] Tonle Sap - Cambodia
[d] Biwa - Indonesia

Sol. [D]

1. Lake Biwa- It is the largest fresh water lake in
Japan.

2. Lake Baikal - It is the deepest lake in the world
located in Russia. In terms of volume, it is the
largest freshwater lake in the world.

3. Darya-e-Urmiya - Iran's largest saline lake.
4. Tonle Sap - This is the largest freshwater lake

in South-East Asia located in Cambodia. This
lake is included in the 36 biodiversity hot spots
of the world.

84. The mismatched pair among the following
is-

Lake Country
[a] Five Flower - Mongolia
[b] Boiling - Dominica
[c]  Saimaa - Finland
[d] Hornindalsvatnet - Norway

Sol. [A]
Five Flower Lake – located in Sichuan, China
Lake Hornindalsvatnet, located in Norway,
is the deepest lake in Europe.

85. Consider the correct statement/statements in
the following-
1. The Caspian Sea is the largest lake in the

world, in which the world famous Baku
oil field is located.

2. Lake Toba is the world's largest caldera
lake located in Sumatra island of Indonesia.

3. Van Gol Lake is the largest lake in
Turkiye.
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4.

[a] 1  2 [b] 2, 3  4
[c] [d] 1, 2  3

Sol. [D]

86.

[a] [b]
[c] [d]

Sol. [D]

87.

A. 1.
B. 2.
C. 3.
D. 4.

5.

A B C D A B C D

[a] 4 5 1 3 [b] 4 5 2 1

[c] 4 5 3 1 [d] 5 4 1 3
Sol. [B]

88.

[a]

[b]

[c]

[d]

Sol. [D]

89.

[a]

[b]

[c]

[d]

Sol. [C]

4. Lake Chad is a saline lake which is
continuously shrinking.

Code-
[a] 1 and 2 only [b] 2, 3 and 4 only
[c] All of the above [d] 1, 2 and 3 only

Sol. [D]
Lake Chad is a freshwater lake bordering the
countries of Nigeria, Niger, Chad and Cameroon.

86. Which of the following lake is not located
in Russia?
[a] Baikal [b] Onega
[c] Ladoga [d] Constance

Sol. [D]
Lake Constance is a lake formed by receiving
water from the Rhine, which is situated on the
border area of Germany Switzerland.

87. The correctly matched pair among the
following is-
Iron and steel center country
A. Salt St. Mary 1. Ukraine
B. Cleveland 2. Brazil
C. Belo Horizonte 3. Russia
D. Creevy Rih 4. Canada

5. United States

A B C D A B C D

[a] 4 5 1 3 [b] 4 5 2 1

[c] 4 5 3 1 [d] 5 4 1 3
Sol. [B]
88. The mismatched pair among the following

is-
Industry Country

[a] Cotton textile industry – Boston
[b] Aircraft manufacturing - Seattle
[c] Lumbering Industry - Vancouver
[d] Shipbuilding - Pittsburgh

Sol. [D]
The city of Portland is famous for shipbuilding.
While Pittsburgh is famous for iron-steel
industry.

89. Among the following is the mismatched pair.
Industrial region Industry
[a] Buffalo - Iron steel
[b] Chuquicamata - Copper
[c] Volta Redonda - Bauxite
[d] Bakabanga - Diamond production

Sol. [C]
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Volta Redonda (Rio de Janeiro) - located in
Bazil, famous for iron steel.

90. Which of the following state is not related
to oil refinery sector?
[a] Dallas [b] Houston
[c] New Orleans [d] Birmingham

Sol. [D]
Birmingham is famous for its iron and steel
industry in the southern Appalachian region
of the state of Alabama.

91. Which city of Pakistan is not famous for
cotton textile industry?
[a] Lahore [b] Multan
[c] Sialkot [d] Karachi

Sol. [C]
Sialkot is famous for sports goods.

92. Wine is known by different names in
different countries. Which of the following
is the mismatched pair?
[a] France - Bordeaux
[b] Italy - Asti wine
[c] Spain - Sherry
[d] Norway - Port

Sol. [D]
Port wine - It is wine of Portugal.

93. Which one of the following industrial
regions is a mismatched pair?
[a] Krivy Rih - Iron
[b] Crimea - Steel
[c] Nikopol - Manganese
[d] Donetsk - Automobile

Sol. [D]
Donetsk - Ukraine's famous industrial region
for coal.

94. Which of the following pair is missmatched-
Industrial Region Country
[a] Ruhr - Germany
[b] Flanders - Belgium and France
[c] Scotland - Sweden
[d] New England - U.S.A.

Sol. [C]
The Scottish industrial region is not located in
Sweden but in the United Kingdom.

95. Which of the following is the major maize
and tobacco exporting port of South America?
[a] Medellin [b] Buenos Aires
[c] Bahia Blanc [d] Santos

Sol. [C]

90.

[a] [b]
[c] [d]

Sol. [D]

91.

[a] [b]
[c] [d]

Sol. [C]

92.

[a]
[b]
[c]
[d]

Sol. [D]

93.

[a]
[b]
[c]
[d]

Sol. [D]

94.

[a]
[b]
[c]
[d]

Sol. [C]

95.

[a] [b]
[c] [d]

Sol. [C]
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1.

2.

3.
96.

(i), (ii), (iii) (iv) 

[a]

[b]

[c]

[d]

Sol. [D]

97.

[a] [b]

[c] [d]

Sol. [C]

98.

A. 1.
B. 2.
C. 3.
D. 4.

5.

A B C D A B C D
[a] 4 5 2 3 [b] 4 5 1 3
[c] 4 3 2 1 [d] 3 4 5 2

Sol. [B]
99.

1. Medellin - Colombia's major coffee center
2. Buenos Aires - Shipbuilding and Wheat Export

Center
3. Santos - Coffee Port
96. In the following map of the country, the

location of industrial regions has been shown
as (i), (ii), (iii) and (iv). Identify these in the
order given below the map and answer-

[a] Multan, Lahore, Karachi, Quetta
[b] Quetta, Lahore, Karachi, Multan
[c] Karachi, Lahore, Quetta, Multan
[d] Lahore, Multan, Quetta, Karachi

Sol. [D]
97. Which of the following type of agriculture

is not commercial agriculture?
[a] Food crop agriculture
[b] Plantation agriculture
[c] Intensive subsistence farming
[d] Mixed farming

Sol. [C]
Intensive subsistence agriculture - is a type of
subsistence agriculture.

98. Match the following types of agriculture with
their regional names-
Agricultural Country
A. Milpa 1. Central Africa
B. Roca 2. Venezuela
C. Masolo 3. Malaysia
D. Ladang 4. Mexico

5. Brazil
Code:

A B C D A B C D

[a] 4 5 2 3 [b] 4 5 1 3

[c] 4 3 2 1 [d] 3 4 5 2
Sol. [B]
99. The mismatched pair Based on the names of

shifting agriculture  in different countries is?



Page 33 of 32

[a]
[b]
[c]
[d]

Sol. [D]
*
*

100.

[a]

[b]

[c]

[d]

Sol. [B]

101.

[a] [b]

[c] [d]

Sol. [D]

[kk|

ngh

pEep

(102 - 103)

102.

[a] [b]

[c] [d]

Sol. [B]

[a] Myanmar - Tugya
[b] West Africa - Logan
[c] Central Africa - Masolo
[d] Madagascar - Fung

Sol. [D]
* Madagascar - Tavi
* Fung is the local name for shifting

agriculture in equatorial Africa.
100. Identify the incorrect statement from the

following-
[a] The laborers working at the sheep

breeding centers of Australia are called
Jeckaroos.

[b] The cattle farms of the United States of
America are called estancias.

[c] In the United States of America, those who
take care of cattle ranches are called
cowboys.

[d] In South America, those who take care of
large cattle farms are called guachos.

Sol. [B]
Large cattle farms in the United States are
called ranches, while cattle farms found in the
pampas grasslands of South America are called
estancias.

101. Identify the diagram that best represents the
relationship among classes given below :

Food, Curd, Spoons

[a] [b]

[c] [d]

Sol. [D]

Spoon  Curd  

Food  

Directions (102-103): In each of the following
questions, Identify the diagram that represents
the best relationship among classes given below:

102. Women, Sisters and Wives

[a] [b]

[c] [d]

Sol. [B]
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vkSjr
cgusaifRu;ka

103.

[a] [b]

[c] [d]

Sol. [A]

nkysa

vjgj ew¡xnky

(104 107)

11
4

5

149

8 12 6
10 7

13

104.

[a] 11 [b] 9

[c] 5 [d] 4

Sol. [A]

11

105.

[a] 6 [b] 7

[c] 10 [d] 13

Sol. [C]

10

106.

[a] 12 [b] 11

[c] 3 [d]

Sol. [D]

Women  

Wives Sisters  

103. Pulses, Redgram , Moongdal

[a] [b]

[c] [d]

Sol. [A]

Pulses  

Redgram Moongdal 

Questions (Q. 104 to 107) are based on the diagram
given below. Answer these questions.

11
4

5

149

8 12 6
10 7

13

Rectangle represents males
Triangle represents educated
Circle represents urban

Square represents civil servants
104. How many among the following is an

educated male who are not the urban resident
?
[a] 11 [b] 9
[c] 5 [d] 4

Sol. [A]
11

105. How many among the following is a female,
urban resident and also a civil servant ?
[a] 6 [b] 7
[c] 10 [d] 13

Sol. [C]
10

106. How many among the following is
uneducated and also an urban male?
[a] 12 [b] 11
[c] 3 [d] None of these

Sol. [D]
None of these
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= 12 + 6

= 18

107.

[a] 2 [b] 5

[c] 4 [d] 11

Sol. [C]

108. 120 80
70

[a] 20 [b] 30

[c] 30 [d] 30 

Sol. [D]

120

80

120 – 80 = 40

 70

 70 – 40 = 30

109. 15 7
8 3

[a] 10 [b] 9

[c] 5 [d] 4

Sol. [B]

15

3

15 – 3 = 12

= 12 + 6
= 18

107. How many among the following are educated

male who hails from urban area?

[a] 2 [b] 5

[c] 4 [d] 11

Sol. [C]

108. In a group of 120 persons, 80 are Indians and
rest are foreigners. Further, 70 persons in the
group can speak English. The number of
Indians who can speak English is:

[a] 20 [b] 30

[c] 30 or less [d] 30 or more

Sol. [D]

Given : Total persons in the group = 120
Number of Indian people = 80
Number of foreigners = 120 – 80 = 40
Number of persons in the group who can speak
English = 70
Calculation :
Assuming all the foreigners speak English we
will get the minimum numberof Indians who
can speak English i.e.
Minimum number of Indians speaking English
= Total English speaking people – Maximum
number of foreigerns speak English

 70 – 40 = 30
Hence, as the number of foreigners speaking
English will decrease the number of Indians
speaking English will increase.

109. In a group of 15 people, 7 can read French, 8

can read English while 3 of them can read

neither of these two languages. The num-

ber of people who can read exactly one lan-

guage is :

[a] 10 [b] 9

[c] 5 [d] 4

Sol. [B]

Total no. of people = 15

No. of people who neither read French nor English

= 3

No. of people who read at least one language

= 15 – 3 = 12
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7

8

7 + 8 – 12 =

3

7 – 3 = 4

8 – 3 =

5

4 + 5 = 9

110. 25 15
12 11

4
3

[a] 5 [b] 1

[c] 4 [d] 2

Sol. [B]

  

4 2 

5 

1 2 

6 

3 

 

 

111-113

= 3500

= 1500

No. of people who can read French = 7
No. of people who can read English = 8
No. of people who speak both language = 7 +
8 – 12 = 3
No. of people who read only French = 7 – 3 =
4
No. of people who read only English = 8 – 3
= 5
No. of people who read exactly one language
= 4 + 5 = 9

110. In a survey of 25 students, it was found that 15
had taken Mathematics, 12 has taken Physics
and 11 had taken Chemistry, 5 had taken
Mathematics and Chemistry, 9 had taken
Mathematics and Physics, 4 had taken Physics
and Chemistry and 3 had taken all the three
subjects. Find the number of students who had
taken both Physics and Chemistry but not
Mathematics.

[a] 5 [b] 1

[c] 4 [d] 2

Sol. [B]

Maths  Physics  

Chemistry  

4 2 

5 

1 2 

6 

3 

Directions (111-113): Study the following
pie-chart carefully and answer the questions
given below-
Percentage of students enrolled in different
streams in a college.
Total number of students = 3500

Percentage distribution of girls enrolled in
these streams out of total students.
Total number of girl students = 1500



Page 37 of 32

111.

[a] 1050 [b] 810

[c] 1120 [d] 980

Sol. [B]

=
16 12 20

3500 1500 3500
100 100 100
              
     

18
1500

100
   
 

= (560 – 180) + (700 – 270)

= (380 + 430) = 810

112.

[a] 14 : 23 [b] 2 : 3

[c] 114 : 121 [d] 53 : 65

Sol. [C]

38 22 11
1500 : 3500 1500

100 100 100
          
   

= 570 : (770 – 165) = 570 : 605

= 
570 114

114 :121
605 121

 

113. 20% 

[a] 593 [b] 733

[c] 453 [d] 1003

111. What is the total number of boys enrolled in
Management and IT together?

[a] 1050 [b] 810

[c] 1120 [d] 980

Sol. [B]

Total number of boys enrolled in Management
and IT

=
16 12 20

3500 1500 3500
100 100 100
              
     

18
1500

100
   
 

= (560 – 180) + (700 – 270)

= (380 + 430) = 810

112. What is the ratio of the number of girls
enrolled in Arts to the number of boys
enrolled in Science?

[a] 14 : 23 [b] 2 : 3

[c] 114 : 121 [d] 53 : 65

Sol. [C]

(No. of girls enrolled in Arts) : (No. of boys
enrolled in Science)

=
38 22 11

1500 : 3500 1500
100 100 100
          
   

= 570 : (770 – 165) = 570 : 605

= 
570 114

114 :121
605 121

 

113. If 20% of the girls enrolled in Science change
their stream to Management, then what will
be the total number of students in
Management?

[a] 593 [b] 733

[c] 453 [d] 1003
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Sol. [A]

=

16
3500

100
  
 

 = 560

= 560 + 
20 11

1500
100 100
   
 

= (560 + 33) = 593

114-115

2022 

114. 2022 Q 2021 
10% 2021 20% 

2021 

[a] 34.34 [b] 28.28

[c] 29.09 [d] 30.30

Sol. [D]

2021 Q 

100
40

110
  

400

11

2021 x 

% = 
 
 
 

× 100 =

400
–

11
x

x
×100

20 1 400 –11

100 5 11

x

x
  

Sol. [A]

Number of management students already

enrolled = 
16

3500
100
  
 

= 560

New required number = 560 +

20 11
1500

100 100
   
 
= (560 + 33) = 593
Direction (Questions 114-115): Study the bar
chart given below and answer the questions
that follow -
Income and expenditure of five companies
in 2022 (in crores of rupees)

114. If the income of company Q in 2022 was 10%
more than in 2021 and the company earned a
profit of 20% in 2021, then its expenditure
(in Rs. crore) in 2021 was

[a] 34.34 [b] 28.28

[c] 29.09 [d] 30.30

Sol. [D]

Income of company Q in 2021
100

40
110

  Rs. 
400

11
crore

If the expenditure in 2021 is Rs. x crores.

Profit: = 
Income expenditure

expenditure

 
 
 

× 100

=

400
–

11
x

x
×100

20 1 400 –11

100 5 11

x

x
  
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5 400 – 55 11x x  

66 2000x 

 x = 30.30

115. 2022 

[a] Q [b] M

[c] N [d] P

Sol. [A]

Q 

40 – 30 100 1
100 33 %

30 3 3
   

116 118

A, B, C D 

A 112 100 130 
B 100 88 124 
C 110 80 46 
D 96 94 86 
 

116. A B 
C D 

[a] 48 [b] 46

[c] 40 [d] 32

Sol. [A]

= (130 + 124) – (110 + 96) = 254 –
206 = 48

117. E B 
50% 

E 

[a] 420 [b] 468

[c] 464 [d] 500

Sol. [B]

5 400 – 55 11x x  

66 2000x 

   x = 30.30

115. In the year 2022, the company which earned
the highest percentage of profit is?

[a] Q [b] M

[c] N [d] P

Sol. [A]

From bar diagram
Profit percentage of company Q

40 – 30 100 1
100 33 %

30 3 3
   

Direction (Q. 116 -118): Study the table
carefully and answer the questions given
below -
The given data is regarding the number of
mobile phones sold by shops A, B, C and D
in three different months June, July, August.

Shops June July August 
A 112 100 130 
B 100 88 124 
C 110 80 46 
D 96 94 86 
 

116. What is the difference between the total
number of mobile phones sold by shop A and
B together in August and the number of
mobile phones sold by shop C and D together
in June?

[a] 48 [b] 46

[c] 40 [d] 32

Sol. [A]

Required difference = (130 + 124) – (110 + 96)
= 254 – 206 = 48

117. Another shop E sold 50% more mobile phones
in September than the mobile phones sold
by shop B in all the three months. What is
the total number of mobile phones sold by
shop E in September?

[a] 420 [b] 468

[c] 464 [d] 500

Sol. [B]
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B = 100 + 88
+ 124  = 312

E 

= 312 + 312 50%

= 312 + 156 = 468

118. A C 
B 

[a] 13 : 9 [b] 51 : 25

[c] 31 : 25 [d] 45 : 31

Sol. [D]

A C 
B 

= (100 + 80) : 124 = 180 : 124 = 45 : 31

119-120

119. 2009-17  

[a] 25.23 [b] 20.60

[c] 21.12 [d] 25.94

Sol. [D]

= 4413

= 3504

 4413, 3504 

Total mobiles sold by B in all the months =
100 + 88 + 124 = 312
Then according to the given condition the
number of mobile phones sold by shop E in
September is

= 312 + 312 of 50%

= 312 + 156 = 468

118. What is the respective ratio between the total
number of mobile phones sold by shop A and
C together in July and the total number of
mobile phones sold by shop B in August?

[a] 13 : 9 [b] 51 : 25

[c] 31 : 25 [d] 45 : 31

Sol. [D]

Total number of mobile phones sold by shop
A and C together in July : Total number of
mobile phones sold by shop B in August =
(100 + 80) : 124 = 180 : 124 = 45 : 31
Direction (Q. 119-120): Refer to the graph and
answer the given questions.
Year wise and department wise break-up of
candidates enrolled in management colleges.

H.R Marketing Finance  

119. The total number of candidates enrolled in
HR is what percent more than the total
number of candidates enrolled in Marketing
during the period 2009-17?

[a] 25.23 [b] 20.60

[c] 21.12 [d] 25.94

Sol. [D]

Total Human Resource = 4413
Total of Marketing = 3504
Now the question becomes 4413 is what
percent more than 3504.
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4413 3504 909
100 100 25.94%

3504 3504


   

120. 2009 2013 

[a] 59 : 123 [b] 117 : 53

[c] 53 : 177 [d]

Sol. [A]

= (506 – 447) : (623 – 500) = 59 :
123 (a)

121. 2022-23 

(GSVA)

[a] 28.95 [b] 28.50

[c] 27.76 [d] 43.74

Sol. [D]

o"kZ 2022&23 {ks=okj ;ksxnku  fLFkj ewY;ksa ij (%) izpfyr ewY;ksa ij (%)  
Ñf"k 28-50 28-95 
m|ksx 27-76 27-31 
lsok,a 43-74 43-74 
 

122.

[a] [b]

[c] [d]

Sol. [D]

123. 2022-23 

[a]

[b]

[c]

[d]

Sol. [D]

So 
4413 3504 909

100 100 25.94%
3504 3504


   

120. What is the ratio of the difference between
the number of candidates enrolled in Finance
and HR departments in the years 2009 and
2013 respectively?
[a] 59 : 123 [b] 117 : 53
[c] 53 : 177 [d] None of these

Sol. [A]
Required ratio = (506 – 447) : (623 – 500) = 59
: 123 So option (a).

121. In the year 2022-23, what is the contribution

of service sector in the state's gross state value

addition (GSVA)?

[a] 28.95 [b] 28.50

[c] 27.76 [d] 43.74

Sol. [D]

Sector wise 
contribution for the 
year 2022-23 

At constant 
prices(%) 

At prevailing 
prices (%) 

Agriculture 28-50 28-95 
Industry 27-76 27-31 
Services 43-74 43-74 
 

122. Which of the following e-Governance appli-
cations provides a way to receive informa-
tion from citizens through S.M.S?
[a] Video wall [b] i-Start
[c] Raj-Kaj [d] e-Sanchar

Sol. [D]
e-Sanchar application provides various services
to various e-Governance applications to send
information to citizens and department offi-
cials through SMS/Voice Message/Whatsapp
and also provides a way to get information
from citizens through SMS.

123. Which sector has the maximum contribution
in the service sector of the state in the year
2022-23 after trade, hotels and restaurants?
[a]  Transport, storage and communication sector
[b]  Public Administration
[c] Other services
[d] Real estate, ownership of dwellings and

professional services
Sol. [D]
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• 27.69%

• 24.62%

• 19.57%

• 11.78%

• 9.27%

• 7.07%

124.

1. 1 2020 

2.

3. 5 2022 

4.

[a] 1 2 [b] 2 3

[c] 1, 2 3 [d]

Sol. [D]

18
2019 1 2020

125.

[a] 18 2022 [b] 30 2022
[c] 21 2021 [d] 9 2020

Sol. [A]

1.

18 2022 
2 15% 

Sub-sector-wise contribution of services sec-
tor at current prices (2022-23)
• Trade, hotel and restaurant -     27.69%
• Real estate, dwellings -     24.62%

and Professional Services
• Other services            -      19.57%
• Transport, storage and -      11.78%

communication sector
• Financial Services            -     9.27%
• Public Administration -      7.07%

124.  Select the correct statements related to 'Jan
Aadhaar Yojana'-
1. This scheme has been implemented from 1

April 2020.
2. Jan Aadhaar Authority is the single plat-

form for Direct Benefit Transfer of the
State.

3. On 5 April 2022, the state has declared Jan
Aadhaar as a ration card.

4. The objective of this scheme is to increase
the participation of women in the financial
decisions of the family.

[a] 1 and 2 only [b] 2 and 3 only
[c] 1, 2 and 3 only [d] all of the above

Sol. [D]
For effective implementation of the ideology
of 'one number, one card and one identity',
this scheme has been launched from Decem-
ber 18, 2019. This scheme has been imple-
mented from 1 April 2020.
All cash family benefits are transferred to the
bank account of the female head only which
has not only empowered women but also in-
creased financial inclusion and participation of
women in family financal decisions.

125. Rajasthan Film Tourism Promotion Policy
has been implemented from?
[a] 18 April 2022 [b] 30 November 2022
[c] 21 October 2021 [d] 9 September 2020

Sol. [A]
1. The Rajasthan Film Tourism Promotion

Policy is applicable from 18 April 2022 with
the aim of promoting the state as a pre-
ferred film destination and encouraging the
shooting of Rajasthani films. Under this,
subsidy will be given up to 2 crores or up
to 15% of the total production.
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2. 30 2022 - 

3. 21 2021 - 

4. 9 2020 - 

126. 2022 

1. 27 2022 

2. 25 
9% 

[a] 1 [b] 2
[c] 1 2 [d] 1, 2

Sol. [A]

• 2022- 

• 30 2022 

• 25 9% 

• 1 
10 SGST 100%

127.
 

[a] 2000 [b] 1996
[c] 1990 [d] 1998

Sol. [D]
1998 

128.

5 2021 

[a]

[b]

[c]

[d]

Sol. [B]

5 2021 

2. 30 November 2022 - Rural Tourism Scheme
3. 21 October 2021 - Paying Guest Scheme
4. 9 September 2020 - Rajasthan Tourism Policy

126. Consider the following statements related to

Rural Tourism Scheme, 2022-

1.  This scheme has been implemented from
27 September 2022.

2. Under this, loans up to Rs 25 lakh are given
to rural tourism units at 9% interest subsidy.

Choose the incorrect statement from the above-

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
• Rajasthan Rural Tourism Scheme, 2022- To

promote tourism in rural areas.
• Applicable from November 30, 2022.
• Loans up to 25 Lakhs 9% Interest Subsidy
• 100% reimbursement of SGST for 10 years

to rural tourism units with minimum in-
vestment of Rs.1 crore.

127. The center to create awareness about Intel-
lectual Property Rights (I.P.R) in the state and
facilitate patent filing in the region was es-
tablished in which year -
[a] 2000 [b] 1996
[c] 1990 [d] 1998

Sol. [D]
Patent Information Center was established in 1998

128. As per the instructions of the Government
of India, the Advisory Board constituted un-
der the chairmanship of the Chief Secretary,
which became effective from 5 October 2021,
is related to which of the following?
[a] Jan Soochana Portal
[b] Direct Benefit Transfer
[c] Aadhaar
[d] Geographical Information System

Sol. [B]
As per the directions of the Government of
India, a State DBT Advisory Board has been
constituted under the chairmanship of the
Chief Secretary, Government of Rajasthan,
with effect from October 5, 2021.
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129. 2021-23 
100% 

[a]
[b]
[c]
[d]

Sol. [B]
2021-22 

2022-23

130.

[a] [b]
[c]
[d]

Sol. [B]

131. -2023 

[a]

[b]

[c]

[d]

Sol. [B]

2023 
(WEF)

1971

132.

1.

2. 120 

3.

4.

129. Which districts in the state have been selected
for 100% digitization in the field of Digital
Payment between the year 2021-23?
[a] Dungarpur, Pratapgarh, Kota, Sirohi
[b] Ajmer, Dholpur, Sirohi, Jaisalmer
[c] Bundi, Kota, Jodhpur, Jaipur
[d] Banswara, Dungarpur, Sirohi, Ajmer

Sol. [B]
Ajmer, Dhaulpur in the year 2021-22 and
Sirohi, Jaisalmer in the year 2022-23 have been
selected for 100% digitization in the field of
Digital Payment.

130. With the objective of increasing the partici-
pation of Diaspora in the developmental ac-
tivities of the state 'Rajasthan Foundation' has
been established under the chairmanship of -
[a] Chief Secretary [b] Chief Minister
[c] Governor
[d] Any prominent non resident of Rajasthan.

Sol. [B]

The Chief Minister is the Chairman of the
Rajasthan Foundation.

131. Global Risk Report-2023 is published by?
[a] World Bank
[b] World Economic Forum
[c] UNCTAD
[d] International Monetary Fund

Sol. [B]
The Global Risk Report-2023 is published by
the World Economic Forum (WEF).
Establishment - 1971
Headquarters- Geneva (Switzerland)
The World Economic Forum is a non-profit
international organization.

132. With reference to the Voice of Global South
Summit, consider the following statements-
1. This conference was organized in virtually.
2. More than 120 countries participated in it.
3. The “Global South Center of Excellence”

was established for research on
development solutions for developing
countries.

4. Under this, Arogya Maitri was launched,
whose objective is natural disaster and
humanitarian crisis assistance.

Which of the above statement(s) is/are correct-
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[a] 1 2
[b] 2, 3 4
[c] 1, 3 4
[d]

Sol. [D]

133.

UN 

[a] [b]

[c] [d]

Sol. [C]

UN 

134.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [B]

1.

2. 500 

3.

4.

135. (Cow)

[a]

[b]

[c]

[d]

[a] 1 and 2 only
[b] 2, 3 and 4 only
[c] 1, 3 and 4 Only
[d] All the statements are correct.

Sol. [D]
India led first session of Voice of Global South
summit which was held virtually.
Theme - “Unity of Voice, Unity for Purpose”

133. In which country India’s “Women
Peacekeeping Platoon” has been deployed
under UN mission-
[a] Ukraine [b] Syria
[c] Sudan [d] Palestine

Sol. [C]
India deployed its first women peacekeeping
platoon in Sudan under the UN peacekeeping
mission.

134. With reference to the Aspirational Blocks
Programme, consider the following
statements-
1. The objective of this program is to improve

the “Ease of Living” in all the blocks of
the country.

2. Khairwada block of Rajasthan has been
selected for this.

Choose the correct statement from the above-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
Aspirational Block Program -
1. It was launched by the Prime Minister at

the 2nd National Conference of Chief
Secretaries (New Delhi).

2. Objective- To improve the ‘Ease of Living’
for the citizens in more than 500 identified
blocks of the country.

3. Under this, Khairwada block of Udaipur
was selected under the requirement block
on various parameters.

4. On its lines Udaipur Collector Tarachand
Meena started ‘Mission Kotda’.

135. Country’s first Cow In Vitro Fertilization
center has been started at which place in
Rajasthan?
[a] Jojawar village (Pali)
[b] Poonkhar village (Alwar)
[c] Phlori
[d] Kukas (Jaipur)
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Sol. [A]

IVF 

136.

[a]

[b]

[c]

[d]

Sol. [C]

137.

1.

2. 2003 12 

3. 2023 

[a] [b]

[c] [d]

Sol. [A]

2003 

2023 

138.

[a]

[b] INCOVACC 

[c] 14 

[d]

Sol. [C]

Sol. [A]
Country’s first Cow IVF Center has been
started in Jojawar village (Pali) from Shri
Triveni Mahadev Jinendra Gaushala.

136. At which places Biological Parks have been
established in Rajasthan?
[a] Ganganagar, Jaipur, Jodhpur, Udaipur
[b] Kota, Ajmer, Jodhpur, Jaipur
[c] Jaipur, Udaipur, Kota, Jodhpur
[d] Bikaner, Kota, Jaipur, Jodhpur

Sol. [C]
Biological parks are being established in
Jaipur, Jodhpur, Kota and Udaipur.

137. With reference to the Pravasi Bharatiya Divas
Convention, consider the following
statements-
1. It is celebrated on the occasion of Swami

Vivekananda's return from America.
2. It is celebrated every year on January 12,

since the year 2003.
3. Pravasi Bharatiya Divas Convention 2023

was  held in Indore.
How many of the above statements are
correct-
[a] only one    [b] only two
[c] All the statements   [d] None of the above

Sol. [A]
Pravasi Bharatiya Divas is celebrated since the
year 2003 and in January to commemorate
Gandhiji’s return to India from South Africa.
In 2023 it was organized in Indore.
At present it is celebrated once in two years.

138. With reference to the world’s first intranasal
corona vaccine, consider the following
statements and select the incorrect option-
[a] It has been developed by the Department

of Biotechnology and Bharat Biotech.
[b] It has been named INCOVACC.
[c] It is effective for the age group above 14

years.
[d] All the above statements are correct.

Sol. [C]
The world’s first intranasal corona vaccine has
been developed by the Department of
Biotechnology and Bharat Biotech
International Limited.
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18 
INCOVACC 

BB154 
139.

1.

2.

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [C]

140.

1.
2.
3.

[a] 1 [b] 1 2
[c] 2 3 [d]

Sol. [D]

1.
2.
3.
4.
5.

141.

[a] [b]
[c] [d]

Sol. [C]

It is effective for the age group of 18 years
and above.
The name of the vaccine is INCOVACC.
(Earlier it was named BB154).

139. Consider the following statements about
Padma Shri awards-
1. Ahmed Hussain and Mohammad Hussain

were awarded with Padma Shri for social
services.

2. Moolchand Lodha and Laxman Singh were
awarded with Padma Shri for their
contribution in the field of Arts.

Which of the above statements is not correct-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
Ahmed Hussain and Mohammad Hussain
received Padma Shri award in Arts (Ghazal
Singing).
Moolchand Lodha and Laxman Singh received
the Padma Shri for Social Service.

140. Which schemes of Rajasthan government are
included in the flagship program-
1. Mukhya Mantri Bal Gopal Yojana
2. Free Uniform Distribution Scheme
3. Mukhya Mantri Anuprati Yojana
Code :
[a] 1 only [b] 1 and 2 only
[c] 2 and 3 only  [d] all of the above

Sol. [D]
The state government has included the
following five schemes in the flagship
programme-
1. Mukhya Mantri Bal Gopal Yojana
2. Free Uniform Distribution Scheme
3. Mukhya Mantri Anupriti Coaching Scheme
4. Rajiv Gandhi Scholarship for Academic

Excellence
5. ‘Industry status’ to tourism

141. Which state’s Disaster Management
Authority has received the Subhash Chandra
Bose Disaster Management Award?
[a] Rajasthan [b] Madhya Pradesh
[c] Odisha [d] Gujarat

Sol. [C]
Subhash Chandra Bose Disaster Management
Award
State - Odisha
Organization - Lunglei Fire Station, Mizoram
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142.

[a] [b]

[c] [d]

Sol. [C]

143.

[a]

[b]

[c]

[d]

Sol. [D]

1963 

1952 

144. II 

1. DRDO 

2. 3500 

3.

[a] 2 [b] 2 3

[c] 1 3 [d]

Sol. [C]

DRDO 
II 

350 km, 500-1000kg.

145. (BharOS)

[a] IIT, [b] IIT, 

[c] IIT, [d] IIT, 

Sol. [D]

142. Country’s largest credit outreach program has
been organized at which place?
[a] Jaipur [b] Udaipur
[c] Kota [d] Alwar

Sol. [C]
The country’s largest credit outreach program
was organized in Kota.

143. After which two Paramveer Chakra winners
of Rajasthan, Andaman and Nicobar islands
have been named-
[a] Shaitaan Singh and Hoshiar Singh
[b] Hoshiar Singh and Arun Khetrapal
[c] Hoshiar Singh and Somnath Sharma
[d] Shaitan Singh and Piru Singh Shekhawat

Sol. [D]
Shaitan Singh and Piru Singh Shekhawat are
Paramveer Chakra winners from Rajasthan
after whom Andaman and Nicobar Islands
have been named.
Shaitan Singh (Jodhpur) awarded Param Vir
Chakra posthumously in 1963.
Piru Singh Shekhawat (Jhunjhunu) Awarded
Param Vir Chakra in 1952.

144. With reference to Prithvi-II missile, consider
the following statements-
1. It has been developed by DRDO.
2. Its range is about 3500 kilometers.
3. It is a short range ballistic missile.
Choose the correct statement from the above-
[a] 2 only
[b] 2 and 3 only
[c] 1 and 3 only
[d] All the statements are correct.

Sol. [C]
DRDO successfully test fired short range
ballistic missile Prithvi II from Chandipur
(Odisha).
Range-350 km, load carrying-500-1000kg.
It is powered by light propulsion twin engines.

145. Who has tested the indigenous operating
system 'BharOS'-

[a] IIT, Mumbai [b] IIT, Delhi
[c] IIT, Kanpur [d] IIT, Madras

Sol. [D]
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IOS IIT 
(BharOS)

146.

[a]
[b]
[c]
[d]

Sol. [C]

147. 2023 

[a] [b]
[c] [d]

Sol. [C]

148.

[a] [b]
[c] [d]

Sol. [C]

149. 15

[a] [b]
[c] [d]

Sol. [C]
15th 

150. FSSAI 5 

[a] [b]
[c] [d]

Sol. [B]
FSSAI 

5 

IIT Madras tests indigenous operating system
BharOS to reduce dependence on Android
and iOS.

146. Who among the following was given the
Agripreneurship Award?
[a] Jitendra Godara and Anil Vyas
[b] Manvendra Singh and Krishna Poonia
[c] Jitendra Godara and Manvendra Singh
[d] Manvendra Singh and Anil Vyas

Sol. [C]
Jitendra Godara and Manvendra Singh were
given the Agripreneurship Award for starting
a start-up of manufacturing sweets from desi
ghee milk obtained from indigenous Gir cows.

147. Who won the title of Men’s Hockey World
Cup-2023?
[a] Australia [b] Belgium
[c] Germany [d] India

Sol. [C]
Germany won the title (in a shootout) by
defeating Belgium in the Hockey World Cup
held in Odisha.

148. Where will India’s first online gaming center
of excellence be established -
[a] Kota [b] Jaipur
[c] Shillong [d] Pune

Sol. [C]
Digital India Startup Hub - India’s first Center
of Excellence in Online Gaming to be set up
in Shillong through Indian Software
Technology Park.

149. Who was given the Lifetime Achievement
Award at the 15th Jaipur International Film
Festival?
[a] Amitabh Bachchan [b] Sushmita Sen
[c] Aparna Sen [d] Prakash Jhan

Sol. [C]
15th Jaipur International Film Festival
Theme-Mental Yoga from Films.
Life Time Achievement Award to  Aparna Sen.

150. Which station has been awarded ‘Eat Right
Station’ with 5 Star certification by FSSAI?
[a] Jaipur Junction [b] Varanasi Cantt Junction
[c] Delhi Junction [d] Jodhpur Junction

Sol. [B]
FSSAI awarded Eat right Station and 5 Star
Rating to Varanasi Cantt Railway Station.
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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
A A C D C B C D C C * B D B B
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
D C B C C B D B C D A C A B C
31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
A B B D D B B B B B A A B A A
46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
C B B A A D B C C C B C B A A
61 62 63 64 65 66 67 68 69 70 71 72 73 74 75
D C A D B B D D A D C B D * D
76 77 78 79 80 81 82 83 84 85 86 87 88 89 90
D D D B D D D D A D D B D C D
91 92 93 94 95 96 97 98 99 100 101 102 103 104 105
C D D C C D C B D B D B A A C

106 107 108 109 110 111 112 113 114 115 116 117 118 119 120
D C D B B B C A D A A B D D A

121 122 123 124 125 126 127 128 129 130 131 132 133 134 135
D D D D A A D B B B B D C B A

136 137 138 139 140 141 142 143 144 145 146 147 148 149 150
C A C C D D C D C D C C C C B
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